CASCADE	SCHOOL SPECIALTY	LAKESHORE

Rem Description Unit Size Comments Annual Usage Unit Price Extended Cost Brand Comments Annual Usage Unit Price Extended Cost Extended Cost Unit Price Extended Cost Extended Co																
1060100 BRUSH,EASEL, #8,7/8"X1/2"DIA,9 1/4"HANDLE ALLIM FERRULE, 1 HAT WHITE BRISTLE*** EA 300 \$ 0.31 \$ 93.00 13 \$ 0.200; 300 300 300 300 300 300 300	Item	Item Description	Unit Size	Comments	Annual Usage	Unit Price		Extended Cost	Brand	Comments	Annual Usage	Unit Price	Extended Cost	Brand	Comments	Annual Usage
DECOMPTION Price	100		000		I minute of age				1		Timuda Googe					Tumbuar Couge
1060050 1060																
1060150 1060																
1000050 BRUSH, MATER COLOR, #2, 7/16/"X 7/6-"01A, 0 1 1000150 BRUSH, WATER COLOR, #2, 7/16/"X 7/6-"01A, CAMEL HAIR, 5 1/4" ARTISTHANDLE, ALUM. 4 FERR,***1060150 BRUSH, CAMEL HAIR, 5 1/4" ARTISTHANDLE, ALUM. 4 FERR,***1060150 BRUSH, WATER COLOR, #2, 8/128" DIA CAMEL HAIR, 5 1/4" ARTISTHANDLE, ALUM. 4 FERR,***1060150 BRUSH, WATER COLOR, #3, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTISTHANDLE, ALUM. 5 SINIPPED BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTISTHANDLE, ALUM. 6 SINIPPED BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTISTHANDLE, ALUM. 6 SINIPPED BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTISTHANDLE, ALUM. 6 SINIPPED BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTISTHANDLE, ALUM. 6 SINIPPED BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTISTHANDLE, ALUM. 7 FICE BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTISTHANDLE, ALUM. 8 SINIPPED BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTISTHANDLE, ALUM. 8 SINIPPED BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTISTHANDLE, ALUM. 9 SINIPPED BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTISTHANDLE, ALUM. 9 SINIPPED BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTISTHANDLE, ALUM. 9 SINIPPED BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTISTHANDLE, ALUM. 9 SINIPPED BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTISTHANDLE, ALUM. 9 SINIPPED BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTISTHANDLE, ALUM. 9 SINIPPED BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTISTHANDLE, ALUM. 9 SINIPPED BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTISTHANDLE, ALUM. 9 SINIPPED BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTISTHANDLE, ALUM.																
BRUSH,EASEL, #8,7/8*Y1/2*DIA,9 1/4**HANDLE ALUM ERRULE, 1 ELAT WHITE BRISTLE*** EA		1060050														
1/4"HANDLE ALUM FERRULE, EA 300 \$ 0.31 \$ 93.00 13 Must 300 NO BID 300		BRUSH.EASEL. #8.7/8"X1/2"DIA.9														
1060150 BRUSH, WATER COLOR, #2, 7/16"Y:7/6" DIA, CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALLIM 4 FERR.***1060150 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, S 1/4" ARTIST HANDLE, ALLIM EA 1060150 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, S 1/4" ARTIST HANDLE, ALLIM EA 1060150 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, S 1/4" ARTIST HANDLE, ALLIM EA 1060150 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, S 1/4" ARTIST HANDLE, ALLIM EA 1060150 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, S 1/4" ARTIST HANDLE, ALLIM EA 1060150 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, S 1/4" ARTIST HANDLE, ALLIM A																
1060100 BRUSH,FASEL, #12,1 1/2"X1" DIAM, 9 1/4" HANDLE,ALUM FERRULE, FLAT WHITE BRISTLE 2 ***1060100 BRUSH, WATER COLOR, #2, 7/16"X 7/64" DIA, CAMEL HAIR, 5 1/4" **ARTIST HANDLE, ALUM. 4 FERR,***1060150 EA 1060152 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM. 4 FERR,***1060150 EA 1060152 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM. 4 FERR,***1060150 EA 1060152 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM. 4 FERR,***1060150 EA 1060150 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM. 4 FERR,***1060150 EA 1060150 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM. 4 FERR,***1060150 EA 1060150 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM. 5 Sold 6 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM. 5 Sold 6 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM.	1		EΛ		300	ا د	21	\$ 93.00	1 12		200	NO BID				300
1060100 BRUSH, EASEL, #12,11/2"X1" DIAM, 91/4" HANDLE, ALUM FERRULE, FLAT WHITE BRISTLE 2 ****1060100 BRUSH, WATER COLOR, #2, 7/16" X 7/64" DIA, CAMEL HAIR, 51/4" ARTIST HANDLE, ALUM 4 FERR, ***1060150 BRUSH, WATER COLOR, #3, 51/4" ARTIST HANDLE, ALUM 4 FERR, ***1060150 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 51/4" ARTIST HANDLE, ALUM 4 FERR, ***1060150 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 51/4" ARTIST HANDLE, ALUM 4 FERR, ***1060150 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 51/4" ARTIST HANDLE, ALUM 4 FERR, ***1060150	-	TEAT WITTE BRISTEE	LA		300	φ 0.	31	۶ 33.00	13		300	NO DID				300
1060100 BRUSH, EASEL, #12,11/2"X 1" DIAM, 9 1/4" HANDLE, ALUM FERRULE, FLAT WHITE BRISTLE EA 300 \$ 0.43 \$ 129,00 11 bz 300 NO BID 300																
1060150 BRUSH, WATER COLOR, #2, 7/12" 7/64" DIA, CAMEL HAIR, 5/14" ARTIST HANDLE, ALUM 4 FERR, **1060150 BRUSH, WATER COLOR, #4, 5/8" X 9/128" 10.4 CAMEL HAIR, 5/14" ARTIST HANDLE, ALUM 5 SOLD 4 Shipped as Bach; Sold 4 Shipped as Dozen; Must order in Dia 300 NO BID 8 Friced as Bach; Sold 4 Shipped as Bach; Sold 4																
1060100 BRUSH,EASEL, #12,1 1/2"X 1 " DIAM, 9 1/4" HANDLE,ALUM FERRULE, FLAT WHITE BRISTLE 2																
1060100 BRUSH,EASEL, #12,1 1/2"X1" DIAM, 9 1/4" HANDLE,ALUM FERRULE, FLAT WHITE BRISTLE 2 ***1060100 1060150 BRUSH, WATER COLOR, #2, 7/16" X 7/6" DIA, CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM. 4 FERR,***1060150 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 1060152 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 1060154 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 1060155 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 1060154 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 1060155 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM																
BRUSH, EASEL, #12,1 1/2"X1" DIAM, 9 1/4" HANDLE, ALUM FERRULE, FLAT WHITE BRISTLE 2 ,***1060100 EA 1060150 BRUSH, WATER COLOR, #2, 7/16"X 7/64" DIA, CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM. 4 FERR,***1060150 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM		1050100														
BRUSH, EASEL, #12,11/2"X1" DIAM, 91/4" HANDLE, ALUM FERRULE, FLAT WHITE BRISTLE 2 ,***1060100 EA 1060150 BRUSH, WATER COLOR, #2, 7/16"X7/64" DIA, CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM EA 300 \$ 0.43 \$ 129,00 11 DZ 300 NO BID																
FERRULE, FLAT WHITE BRISTLE 2										Dozen;						
2 ,***1060100 EA 300 \$ 0.43 \$ 129.00 11 bz 300 NO BID 300 1060150 BRUSH, WATER COLOR, #2, 7/16"X 7/6a" DIA, CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM. 4 FERR,***1060150 EA 300 \$ 0.13 \$ 39.00 12 Shipped 300 NO BID 300 1060152 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM										Must						
1060150 BRUSH, WATER COLOR, #2, 7/16"X 7/64" DIA, CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM. 4 FERR,***1060150 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM		1														
BRUSH, WATER COLOR, #2, 7/16"X 7/64" DIA, CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM. 4 FERR,***1060150 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 5 1/4" ARTIST HANDLE, ALUM 6 A B B B B B B B B B B B B B B B B B B	2	,***1060100	EA		300	\$ 0.	43	\$ 129.00	11	DZ	300	NO BID				300
BRUSH, WATER COLOR, #2, 7/16"X 7/64" DIA, CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM. 4 FERR,***1060150 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 5 1/4" ARTIST HANDLE, ALUM 6 A 300 \$ 0.13 \$ 39.00 12 Shipped 7 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 7 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 8 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM																
BRUSH, WATER COLOR, #2, 7/16"X 7/64" DIA, CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM. 4 FERR,***1060150 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 5 1/4" ARTIST HANDLE, ALUM 6 A 300 \$ 0.13 \$ 39.00 12 Shipped 7 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 7 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 8 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM																
BRUSH, WATER COLOR, #2, 7/16"X 7/64" DIA, CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM. 4 FERR,***1060150 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 5 1/4" ARTIST HANDLE, ALUM 6 A 300 \$ 0.13 \$ 39.00 12 Shipped 7 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 7 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 8 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM																
BRUSH, WATER COLOR, #2, 7/16"X 7/64" DIA, CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM. 4 FERR,***1060150 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 5 1/4" ARTIST HANDLE, ALUM 6 A 300 \$ 0.13 \$ 39.00 12 Shipped 7 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 7 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 8 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM																
BRUSH, WATER COLOR, #2, 7/16"X 7/64" DIA, CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM. 4 FERR,***1060150 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 5 1/4" ARTIST HANDLE, ALUM 6 A 300 \$ 0.13 \$ 39.00 12 Shipped 7 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 7 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 7 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM																
BRUSH, WATER COLOR, #2, 7/16"X 7/64" DIA, CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM. 4 FERR,***1060150 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 5 1/4" ARTIST HANDLE, ALUM 6 A 300 \$ 0.13 \$ 39.00 12 Shipped 7 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 7 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 8 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM																
BRUSH, WATER COLOR, #2, 7/16"X 7/64" DIA, CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM. 4 FERR,***1060150 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 5 1/4" ARTIST HANDLE, ALUM 6 A 300 \$ 0.13 \$ 39.00 12 Shipped 7 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 7 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 7 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM																
BRUSH, WATER COLOR, #2, 7/16"X 7/64" DIA, CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM. 4 FERR,***1060150 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 5 1/4" ARTIST HANDLE, ALUM 6 A 300 \$ 0.13 \$ 39.00 12 Shipped 7 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 7 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 7 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM																
BRUSH, WATER COLOR, #2, 7/16"X 7/64" DIA, CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM. 4 FERR,***1060150 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 5 1/4" ARTIST HANDLE, ALUM 6 A 300 \$ 0.13 \$ 39.00 12 Shipped 7 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 7 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 8 DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM																
7/16"X 7/64" DIA, CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM. 4 FERR,***1060150 EA 300 \$ 0.13 \$ 39.00 12 Shipped 300 NO BID 300 1060152 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 501 &																
7/16"X 7/64" DIA, CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM. 4 FERR,***1060150										Priced						
5 1/4" ARTIST HANDLE, ALUM. 4 FERR,***1060150 EA 300 \$ 0.13 \$ 39.00 12 Shipped 300 NO BID 300 1060152 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM																
4 FERR,***1060150 EA 300 \$ 0.13 \$ 39.00 12 Shipped 300 NO BID 300 1060152 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 50 C		5 1/4" ARTIST HANDLE, ALUM.														
1060152 BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM 5.010 &	4	FERR,***1060150	EA		300	\$ 0.	13	\$ 39.00	12		300	NO BID				300
BRUSH, WATER COLOR, #4, 5/8" X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM The state of t		1060152														
X 9/128" DIA CAMEL HAIR, 5 1/4" ARTIST HANDLE, ALUM Sold & ARTIST HANDLE, ALUM										Priced						
ARTIST HANDLE, ALUM Sold & Sold & ARTIST HANDLE, ALUM																
50 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0																
	5	FFRR***1060152	EA		492	\$ 0.	14	\$ 68.88	10		492	NO BID				492

	Pyramid School P	roducts		Blick Art Materials						QUILL						
Unit Price	Extended Cost	Brand	Comments	Annual Usage	Unit Price	Extended Cost	Brand	Comments	Annual Usage	Unit Price	Extended Cost	Brand	Comments	Annual Usage		
\$ 0.40	\$ 147.00								200	6 2 62	ć 700 10	0.0		200		
\$ 0.49	\$ 147.00	8		300	NO BID				300	\$ 2.63	\$ 788.10	99		300		
\$ 0.75	\$ 225.00	8		300	NO BID				300	NO BID	\$ -	NO BID	Crayola #823920 Model #BIN05112 7002 SOLD BY DOZEN PRICED PER EACH 25DZ NEEDED FOR BID			
\$ 0.20	\$ 60.00	6		300	NO BID				300	\$ 1.04	\$ 311.00	99				
\$ 0.24	\$ 118.08	9		492	NO BID				492	NO BID	\$ -	NO BID		492		

NO BID \$ -					Annual		oor & Ornice Sup	. ,	
NO BID \$ - 300 0.29 \$ 87.00 12 NO BID \$ - 300 \$ 0.44 \$ 132.00 10	Unit Price	Extended Cost	Brand	Comments		Unit Price	Extended Cost	Brand	Comments
NO BID \$ - 300 \$ 0.44 \$ 132.00 10					- Junge				
NO BID \$ - 300 \$ 0.44 \$ 132.00 10									
NO BID \$ - 300 \$ 0.44 \$ 132.00 10									
NO BID \$ - 300 \$ 0.44 \$ 132.00 10									
NO BID \$ - 300 \$ 0.44 \$ 132.00 10									
NO BID \$ - 300 \$ 0.44 \$ 132.00 10									
NO BID \$ - 300 NO BID \$ - 11	NO BID	\$ -			300	0.29	\$ 87.00	12	
NO BID \$ - 300 NO BID \$ - 11									
NO BID \$ - 300 NO BID \$ - 11									
NO BID \$ - 300 NO BID \$ - 11									
NO BID \$ - 300 NO BID \$ - 11									
NO BID \$ - 300 NO BID \$ - 11									
NO BID \$ - 300 NO BID \$ - 11									
NO BID \$ - 300 NO BID \$ - 11									
NO BID \$ - 300 NO BID \$ - 11	NO BID	\$ -			300	\$ 0.44	\$ 132.00	10	
	NO RID	¢ -			300	NU BID	ے ا	11	
	INO DID				300	140 010	7 -	11	
NO BID \$ - 492 \$ 2.43 \$ 1,195.56 99	NO BID	s -			492	\$ 2.43	\$ 1.195.56	99	

Bid 2927 Tabulation Arts and Crafts

KESHORE
ł

	CASCADE					SCHOOL SPECIALTY					LAKESHURE			
Item	Item Description	Unit Size	Comments	Annual Usage	Unit Price	Extended Cost	Brand	Comments	Annual Usage	Unit Price	Extended Cost	Brand Co	omments	Annual Usage
	BRUSH, WATER COLOR #6, 3/4"X21/128" DIA, CAMEL HAIR, 5 1/4"ARTIST HANDLE, ALUM FERR***1060154	EA	Cascade Brand	492	\$ 0.18	\$ 88.56		Priced as Each; Sold & Shipped	492	NO BID				492
	1060156 BRUSH,WATER COLOR,#8,15/16"X25/128" DIA, CAMEL HAIR, 5 1/4" ARTIST HANDLE,ALUM FER ***1060156		Cascade Brand	156				Priced as Each; Sold & Shipped	156					156
	1060158 BRUSH,WATER COLOR, #10,1 1/32"X17/64"DIA, CAMEL HAIR, 5 1/4" ARTIST HANDLE,ALUM FER ***1060158	EA	Cascade Brand	144				Priced as Each; Sold & Shipped	144	-				144
	1060160 BRUSH,WATER COLOR, #12,1 5/32"X5/16"DIA, CAMEL HAIR, 5 1/4"ARTIST HANDLE, ALUM FER ,***1060160	EA		276	\$ 0.30	\$ 82.80	10	Priced as Each; Sold & Shipped	276	NO BID				276
	CLAY, MODELING, PLASTIC, 4 ASSORTED COLORS PER PKG. 1 LB PKG. PRODUCT SHALL HAVE THE CERTIFIED PRODUCTS SEAL OF THE ARTS AND CRAFT INSTITUTE FOR NON TOXICITY AND QUALITY. MATERIAL SAFETY DATA SHEET MUST BE SUPPLIED BY VENDOR.	PKG		150	\$ 1.64	\$ 246.00	05		150	NO BID				150

Pyran	nid School Products	Blick Art Materials	QUILL
Pyram	nid School Products	Blick Art Materials	QUILL

Unit Price	Extended Cost	Brand	Comments	Annual Usage	Unit Price	Extended Cost	Brand	Comments	Annual Usage	Unit Price	Extended Cost	Brand	Comments	Annual Usage
\$ 0.2	5 \$ 127.92	99		492	NO BID				492		\$ -	NO BID		492
\$ 0.2	7 \$ 42.12	99		156	NO BID				156	\$ 0.89	\$ 138.06	99	CRAYOLA #823925 MODEI #BIN05112 7008	
\$ 0.2				144					144				CRAYOLA#	
\$ 0.3				276					276			NO BID		276
\$ 1.3		5	Crayola Minimum is \$800 any combo of items in full						150				PRANG #DIX00740 UNACCEPTA BLE ITEM PER BIC	

				Annual				
Unit Price	Extended Cost	Brand	Comments	Usage	Unit Price	Extended Cost	Brand	Comments
NO BID	\$ -			492	\$ 2.64	\$ 1,298.88	10	
NO BID	\$ -			156	\$ 3.09	\$ 482.04	10	
NO BID	\$ -				\$ 3.48		10	
NO BID	\$ -			276		\$ 55.20	9	
\$ 1.68	\$ 252.00	5				\$ 198.00	5	12/CS \$750 Crayola minimum combined

CASCADE	SCHOOL SPECIALTY	LAKESHORE
---------	------------------	-----------

			CASCADE			SCHOOL SPECIALIT			LAKESHUKE					
Item	Item Description	Unit Size	Comments	Annual Usage	Unit Price	Extended Cost	Brand	Comments	Annual Usage	Unit Price	Extended Cost	Brand	Comments	Annual Usage
	CRAYONS, REG SIZE 16 COLOR													
	BOX, 3 5/8" X 5/16" TUCK BOX,													
	WAX CRAYON PRODUCT SHALL													
	HAVE THE CERTIFIED PRODUCTS													
	SEAL OF THE ARTS & CRAFT													
	INSTITUTE FOR NON-TOXICITY &													
	QUALITY. VENDOR MUST SUPPLY													
	MATERIAL SAFETY DATA SHEET.													
11	*M	вох		7,128	\$ 0.50	\$ 3,564.00	01		7,128	NO BID				7,128
	CRAYON, REG SIZE, 8 COLOR													
	BOX, 3 5/8" X 5/16" TUCK BOX,													
	WAX CRAYON NON TOXIC.													
	PRODUCT SHALL HAVE THE													
	CERTIFIED PRODUCTS SEAL OF													
	THE ARTS & CRAFT INSTITUTE													
	FOR NON TOXICITY AND													
	QUALITY. *MUST BE ASBESTOS													
12	FREE*	вох		1,638	\$ 0.32	\$ 524.16	01		1,638	NO BID				1,638
	1000550													
	1060550													
	OIL PASTELS, SET OF 12 * * *	SET		288	\$ 1.33	\$ 383.04	00	SAKURA XEP12	200	NO BID				200
13	1060550) 2E1		288	٦.33 ب	ې 383.U4	99	VELIZ	288	אט פוט				288

	Pyramid School Pr	oducts				Blick Art Mate	rials			QUILL						
Unit Price	Extended Cost	Brand	Comments	Annual Usage	Unit Price	Extended Cost	Brand	Comments	Annual Usage	Unit Price	Extended Cost	Brand	Comments	Annual Usage		
\$ 0.41	\$ 2,922.48		#52-2- 0016	7,128	NO BID				7,128	\$ 1.39	\$ 9,907.92	99	CRAYOLA #520016			
\$ 0.26	; \$ 425.88	1	57-0008	1,638	NO BID				1,638	\$ 0.53	\$ 125.40	99	CRAYOLA #52008			
													PENTEL #PENPHN12 UNI MODEL #PHN12 12/ST NO SUBSTITUT ES PER			

288

\$ 1.90 \$

547.20

NO BID

288

NO BID

NO BID \$

288

BID

ONS

INSTRUCTI

Unit P	rice	Exten	ded Cost	Brand	Comments	Annual Usage	Unit Pr	ice	Extended Co	st Bran	d	Comments
\$	0.80	\$	5,702.40	1		7,128	\$	0.41	\$ 2,922.4	48	1	144/cs
\$	0.48	\$	125.40	1		1,638	\$	0.26	\$ 125.4	40	1	288/cs
NO	BID	\$	-			288	NC) BID	\$ -			

Bid 2927 Tabulation Arts and Crafts

		CASCADE						OOL SPECIA	LTY			LAKESHORE					
Item	Item Description	Unit Size	Comments	Annual Usage	Unit Pric	e	Extend	ded Cost	Brand	Comments	Annual Usage	Unit Price	Extended Cost	Brand	Comment	Annual Usage	
	1060560 PENCIL, COLORED, 24 ASSORTED																
	COLOR SET * * * *1060560 1060600 DRY ERASE BOARD, INDIVIDUAL, 9" X 12", DOUBLE SIDED, SOLID WHITE ON ONE SIDE, SENTENCE WRITING LINES ON BACK, NON- MAGNETIC, UNFRAMED, * * *	SET		1,272		2.52	\$	3,205.44	02		1,272	NO BID				1,272	
	1510533 PENCIL, COLOR 12 ASSORTED PER SET MINIMUM 3.3 MM ,***1510533	EA SET		656 3,492		1.27	\$	1,797.44 4,434.84	04		656 3,492					656 3,492	
	MARKERS, WATERCOLOR, WASHABLE, BOX OF 8 BULLET TIP, LG. BULLET TIP. NON TOXIC. PRODUCT SHALL HAVE THE CERTIFIED PRODUCTS SEAL OF THE ARTS & CRAFT INSTITUTE FOR NON-TOXICITY & QUALITY. CHILD SAFETY CAP REQUIRED (24 PER CASE)	вох		4,464		1.88		8,392.32	01			NO BID				4,464	

		Pyram	nid School Pr	oducts				Blick Art Mate	rials			•		QUILL	_		_
Unit	Price	Exten	ded Cost	Brand	Comments	Annual Usage	Unit Price	Extended Cost	Brand	Comments	Annual Usage	Unit Price Extende		Extended Cost	Brand	Comments	Annual Usage
\$	2.02	\$	2,569.44	2	Crayola minimum is \$800 any combo fo items in full cases	1,272	NO BID				1,272	Ф	3.20	\$ 4,070.40	2	CRAYOLA #4024 MODEL #684024	
	1.09	\$	715.04	5		656	NO BID				656	<i>ب</i>	5.84	\$ 3,831.04	99	QWUARTET #JV212744 8 MODEL QRT129009 62AQ SOLD BY EA	
\$	1.02	\$	3,561.84	9		3,492	NO BID				3,492	\$	3.03	\$ 10,580.76	99	CRAYOLA #684012 MODEL #684012 SOLD BY BX/12	
\$	1.44	\$	6,428.16	99		4,464	NO BID	\$ -			4,464	\$	4.45	\$ 19,864.80		CRAYOLA #587808	4,464

	nit Price	Extended Cost	Brand	Comments	Annual	Unit Price	Evto	ndad Cast	Brand	Comments
۳	iit Price	Extended Cost	Branu	Comments	Usage	Unit Price	Exte	nueu Cost	Dranu	Comments
	2.60	¢ 2.207.20	_		4 272	ć 2.00		2.550.44	4	26/2
\$	2.60	\$ 3,307.20	2		1,272	\$ 2.02	. Ş	2,569.44	1	36/cs
										24/cs Full
\$	0.92	\$ 603.52	GENERAL WB912		656	\$ 2.98	\$	1,954.88	99	case only
广	0.01	γ σσσ.σΞ				,	Ť	2,0000		
\$	1.32	\$ 2,470.43	68-4012		3,492	\$ 1.02	\$	2,470.43	10	48/cs
										24/cs Full
\$	1.78	\$ 7,945.92	1		4,464	\$ 1.51	. \$	6,740.64	3	case only

Bid 2927 Tabulation Arts and Crafts

	CASCADE SCHOOL SPECIALTY								LAKESHORE					
Item	Item Description	Unit Size	Comments	Annual Usage	Unit Price	Extended Cost	Brand	Comments	Annual Usage	Unit Price	Extended Cost	Brand	Comments	Annual Usage
	1510552 MARKERS, WATERCOLOR, PASTEL (SOFT & LIGHT WASHABLE, LARGE BULLET TIP, NON TOXIC. PRODUCT SHALL HAVE THE CERTIFIED PRODUCTS SEAL OF THE ARTS & CRAFT INSTITUTE FOR~ NON-TOXICITY & QUALITY. (24 BOX PER CASE)													
18	CHILD SAFETY***1510552***	вох		1,344	\$ 1.88	\$ 2,526.72	99		1,344	NO BID	\$ -			1,344
	1510578 PENCIL SET, COPY COLOR WATER SOLUBLE, 7", 12 COLORS, PLASTIC BOX, TEACHERS USE ONLY,***1510578	SET		576	\$ 2.18	\$ 1,255.68	08		576	NO BID	\$ -			576
	1510580 PENCIL SET,12 COLOR, 3 1/2" LENGTH *MUST BE DELIVERED IN FULL CASES* ,***1510580			588					588		\$ -			588
						\$ 27,383.24			LID 3/13/23 -		\$ 16,927.04	PRICING	G VALID FO	

SCHOOL SPECIALTY
LINE ITEM AWARD TOTAL \$ 778.68

PYRAMID SCHO LINE ITEM AWA

		Pyramid School	Products	_			Blick Art Mate			QUILL						
Unit Pri	ice	Extended Cost	Brand	Comments	Annual Usage	Unit Price	Extended Cost	Brand	Comments	Annual Usage	Unit Pri	ice	Extended Cost	Brand	Comments	Annual Usage
															CRAYOLA	
															#BIN7816 MODEL	
\$	1.51	\$ 2,029.4	4 1		1,344	NO BID	\$ -			1,344	\$	5.39	\$ 7,244.16	1	#587816	
															CRAYOLA	
															#684302 MODEL	
\$	1.75	\$ 1,008.0	0 8		576	NO BID	\$ -			576	\$	2.48	\$ 1,428.48	8	#684302	576
															CRAYOLA #508982	
<u></u>	0 70	ć 4C4.5	10		F00	NO DID	_			F00	Ć	2 00	ć 1.70F.20	1.0	MODEL	
\$	0.79	\$ 464.5	2 10	CRAYOLA	588	NO BID	\$ -			588	\$	2.90	\$ 1,705.20	10	#684112	588
				MINIMUM												
				ORDER IS												
				\$800 ANY												
				COMBO OF												
				ITEMS IN												
		\$ 21,166.0	4	FULL CASES		_	DECLINED TO BIE	O. OFFER	R OF 20% DISC	COUNT			\$ 60,319.15			

OL PRODUCTS
RD TOTAL \$ 10,180.64

Southwest School & Office Supply

			iai Ait & Scho			Annual				a onice sup	i ,	
Unit P	rice	Exte	nded Cost	Brand	Comments		Unit	Price	Ext	ended Cost	Brand	Comments
\$	2.10	\$	2,822.40	1		1,344	\$	1.51	\$	2,029.44	1	24/cs
\$	2.01	\$	180.45	8		576	\$	1.75	\$	180.45	99	48/cs
\$	1.10	\$	646.80	10		588	\$	0.66	\$	388.08	10	48/cs
		\$	24,056.52						\$	23,331.04		Crayola \$750 minimum combined

SOUTHWEST SCHOOL SUPPLY
LINE ITEM AWARD \$ 8,816.03